CHAPTER 16

30 MCQ questions

1) Which of these is NOT a feature of biological treatments?

a) They make direct changes to the nervous system.

b) They are typically used by psychiatrists or other medically qualified practitioners.

c) They are typically used in a hospital or outpatient setting.

d) An example of a biological treatment is psychodynamic therapy. 
2) Which of the following do we know to be true of psychological treatments? (Please highlight all correct answers.)

a) They can be administered by social workers. 

b) Professionals do not need a specific qualification to administer them.

c) An example of a psychological treatment is electroconvulsive therapy.
d) None of the above.
3) We know that psychosurgery involves severing or otherwise disabling areas of the brain to treat a psychological disorder in the absence of any clear organic cause. But what is the difference between a lobotomy and a cingulotomy?

a) In a lobotomy, nerve fibres connecting the frontal lobes with other parts of the brain are severed; in a cingulotomy, lesions are made in the cingulate gyrus. 

b) In a lobotomy, lesions are made in the cingulate gyrus; in a cingulotomy, nerve fibres connecting the frontal lobes with other parts of the brain are severed.

c) In a lobotomy, the cingulate gyrus is severed; in a cingulotomy, lesions are made in nerve fibres connecting the frontal lobes with other parts of the brain.

d) In a lobotomy, nerve fibres connecting the frontal lobes with other parts of the brain are severed; in a cingulotomy, the cingulate gyrus is severed.

4) Which of these does NOT apply to electroconvulsive therapy (ECT)?

a) ECT is an effective treatment for severe depression.

b) ECT is an effective treatment for schizophrenia. 

c) In ECT, two electrodes are placed on the scalp.

d) In ECT, a moderately intense electric current is passed between the electrodes for half a second.

5) Which of the following are valid criticisms of ECT? (Please highlight all correct answers.)

a) The beneficial effects are short-term. 

b) Relapse rates are high. 

c) It causes permanent disorientation.

d) It causes memory loss that can last for months. 

6) Which general term is used to describe the grouping of all drugs that have effects on psychological function?

a) Neuroleptics.
b) Psychotropics. 

c) Anti-psychotics.
d) Therapeutics.

7) Which of these is NOT an ‘anti-depressant’?

a) Prozac.

b) SSRIs.

c) Anti-convulsants. 
d) Tricyclics.

8) Which of these is an ‘anti-manic’?

a) Lithium carbonate. 

b) Proconvulsants.

c) MAOIs.

d) SSRIs.

9) A distinction is made between anti-depressants, anti-manics and anxiolytics – but which, if any, of the following descriptions of these types of drugs is INCORRECT?

a) Anti-depressants are used to treat mood disorders.

b) Anti-manics produce sedation and reduce anxiety. 

c) Anxiolytics are popularly known as tranquillizers.

d) None of the above – all are correct.

10) Both the single-blind procedure and the double-blind procedure are used to evaluate the effect of a therapy. But what is the difference between these two procedures?

a) In the single-blind procedure, all staff are kept uninformed as to the true nature of the treatment; in the double-blind procedure, the staff and the patient remain uninformed.

b) In the single-blind procedure, the patient is kept uninformed as to the true nature of the treatment; in the double-blind procedure, the patient and all staff remain uninformed. 

c) In the single-blind procedure, all staff are informed of the true nature of the treatment; in the double-blind procedure, the patient and all staff are informed.

d) In the single-blind procedure, the patient is informed of the true nature of the treatment; in the double-blind procedure, the patient and all staff are informed.

11) Which of the following most clearly defines the term ‘randomized clinical trial’ (RCT)?

a) A clinical trial in which there is a random assignment of patients to treatment conditions, in order to evaluate the efficacy of a treatment. 

b) A clinical trial in which the participants are randomly selected to take part, in order to ensure a broad range of different people.

c) A clinical trial in which participants are not told which treatment condition they have been assigned to.

d) A clinical trial in which the results are analysed as a group, and not traced back to individual participants, in order to protect their privacy.

12) In judging the efficacy of a treatment, which of the following might be consulted? (Please highlight all correct answers.)

a) Patient reports.

b) Ratings by hospital staff.

c) Assessments by psychologists.

d) All of the above. 

13) Which of the following statements about psychotropic drugs is FALSE?

a) Everyone responds to them. 

b) Side-effects may preclude their use for some patients.

c) Side-effects may lead some patients to discontinue their use.

d) They do not help to tackle any life experiences that may have caused the disorder.

14) Systematic de-sensitization and contingency management are examples of treatment in which model of psychotherapy?

a) Biological.

b) Family and couples.

c) Behavioural. 

d) Cognitive.

15) Personal growth, self-acceptance and self-actualization are goals of treatment in which model of psychotherapy?

a) Psychoanalytic.

b) Cognitive.

c) Family and couples.

d) Humanistic. 

16) Psychotherapy can take place in:

a) Inpatient settings.

b) Outpatient settings.

c) Both (a) and (b). 

d) Neither (a) nor (b).

17) We know that classical psychoanalysis was developed by Freud. But which of the following is NOT one of its goals?

a) To help the person gain insight into the ‘true’ reasons for their maladaptive behaviour.

b) To work through the implications of the person’s maladaptive behaviour.

c) To work through the associated feelings of the person’s maladaptive behaviour.

d) To strengthen the id’s control over the ego and superego. 

18) Which of the following are NOT aspects of transference? (Please highlight all relevant answers.)

a) The client projects onto the analyst characteristics that are unconsciously associated with important interpersonal figures from the client’s past.

b) The analyst must use his/her own unconscious feelings towards the patient to help to reduce the patient’s symptoms. 

c) Trainees must undergo psychoanalysis themselves before qualifying as a psychoanalyst.

d) All of the above.

19) Which of the following are exposure techniques? (Please highlight all correct answers.)

a) Flooding. 

b) Covert sensitization.

c) Systematic desensitization. 

d) All of the above.

20) Which of the following is NOT a form of contingency management?

a) Flooding. 

b) Token economy.

c) Time out.

d) Response cost.

21) Identify the CORRECT statement in relation to aversion therapy:

a) All types of aversion therapy are based on classical conditioning.

b) Aversion therapy cannot be used to treat sexual deviations.

c) Aversion therapy teaches alternative behaviours to replace the problem activities.

d) Systematic de-sensitization can induce a nauseous response to alcohol. 

22) How does cognitive therapy differ from behavioural therapy?

a) Cognitive therapy does not engage the client in behavioural tasks.

b) Cognitive therapy focuses on the patient’s internal experiences. 

c) Behavioural therapy focuses on the patient’s internal experiences.

d) Behavioural therapy focuses on the patient’s affective experiences.

23) Albert Ellis developed one of the earliest forms of cognitive therapy – rational emotive therapy (RET). But which of the following corresponds to Ellis’s reasoning on this?

a) When an emotional consequence (B) follows an activating event (A), it is A that causes B.

b) When an emotional consequence (C) follows an activating event (A), it is not A that causes C but the individual’s beliefs (B). 

c) When an emotional consequence (C) follows an activating event (A), it is both A and the individual’s beliefs (B) that cause C.

d) None of the above.

24) Which is NOT the case? Humanistic therapies:

a) Focus on the conscious experience of the client.

b) Work on the premise that a client’s problems can be understood when viewed from an objective point of view. 

c) View psychological problems as disturbances in awareness or undue restrictions on existence.

d) Help people develop meaning in their life by the process of self-actualization.

25) Select the CORRECT answer. Gestalt therapy:

a) Was developed by Carl Rogers.

b) Allows the client to determine what to talk about and when to do so, without direction, judgement or interpretation by the therapist.

c) Aims to enhance the client’s awareness of herself, which helps the client to grow. 

d) Asks the client to talk about both the past and the future.

26) We can trace family therapy back to the family theories of schizophrenia in the 1950s, such as those by Bateson and colleagues (1956). But what was the radical new perspective on psychological disorders that Bateson and colleagues offered?

a) Focusing on the interaction taking place when the behaviour occurs. 

b) Considering individual behaviour as isolated from an interpersonal context.

c) Both (a) and (b).

d) Neither (a) nor (b).

27) The most thoroughly evaluated couple therapy infers that interactions of distressed couples are characterized by negative reciprocity. But what is meant by negative reciprocity?

a) The tendency for one partner to respond with negative behaviour when the other partner behaves positively.

b) The tendency for one partner to respond with positive behaviour when the other partner behaves negatively.

c) The tendency for one partner to respond with negative behaviour when the other partner behaves negatively. 

d) The tendency for one partner to respond with negative behaviour, regardless of whether the other partner behaves positively or negatively.

28) What aspect of psychotherapy were Smith, Glass and Miller trying to evaluate when they took on the monumental task of analysing 475 studies involving 25,000 patients in 1980?

a) Which is superior: biological or psychological treatment.

b) The effectiveness of psychotropic drugs.

c) The limits of drug therapy.

d) The effectiveness of psychotherapy. 

29) The treatment–etiology fallacy and similia similibus curantur are both logical errors. But which one of the following descriptions does NOT accurately reflect one of these terms?

a) In the treatment–etiology fallacy, treatment mode is assumed to imply the cause of the disorder.

b) Similia similibus curantur is the notion that like is cured by like.

c) In the treatment–etiology fallacy, the cause of the disorder dictates which treatment mode is used. 

d) Similia similibus curantur is a principle used in homeopathy.

30) Which of the following statements is FALSE in relation to whether it is possible to combine biological and psychological forms of treatment? Studies have found that:

a) Concurrent, joint use of medication and psychotherapy produces significant additional advantage. 

b) Combined treatment can be more effective for some disorders than for others.

c) Combining treatments sequentially may be helpful, especially in preventing relapse.

d) A combined treatment approach is particularly valuable with clients who may initially be too depressed or anxious to participate fully in psychotherapy.

